= == N = ¢ E =
F/NEEDENERKTEE )
RIEREH I= AE - /B &
T 177 182 45
IR EEN
BEE~DRTHR 0 0 0
THRIRG (B - FEOXRZVWELDTIRYSERE)
BEL 3 xS BHMLERIRE e (M)
&~ = _ pnes FRATHETEXR
= - SRR TSR T A
o= _ pnas FRTHETFEXHR
FEEFE I=% iR A AL M R T 103, 680, 000
. hRAERAR Y
BERER BlE - & =224 2 — (R#) A RRE 377,913, 600
RUBEEER
R EmEE -
3 7 = R TE=R - == 37 X EENS -
BERIER HE - &% RE= 2244 7)12;'710"— v 33, 480, 000
EE
& = ml= L . FRTERTERRK
- ISENEEA=E: O
Sl & fERmE AL YU RREIEAT 65, 653, 200
TEA
FHEmE I te & 85 AKL Eég%ggfﬂ* 54, 648, 000
BEWESR " RS AL f%g@i’ kU= 52, 380, 000




